Calculating Velocity

Overview
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The Source Table:

Sprint
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The Result:
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ECS Sprint 1
| Story Points Committed [l Story Points Completed

ECS Sprint 2

ECS Sprint 3
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sprint Story Points Committed @ Story Points Completed = Velocity

ECS Sprint 1 234.0 219.0 219.0
ECS Sprint 2 116.5 855 152.3
ECS Sprint 3 167.0 162.0 155.5
ECS Sprint 4 81.0 755 1355

Macro combination:
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. Insert the Jira Issues macro.
. Wrap the Jira Issues macro in the Table Filter macro.
. Wrap the Table Filter macro in the Pivot Table macro.
. Wrap the Pivot Table macro and the table containing statuses in the Table Transformer macro.
. Wrap the Table Transformer macro in the Chart from Table macro.



https://confluence.atlassian.com/doc/jira-issues-macro-139380.html
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Filter+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Pivot+Table+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Transformer+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Chart+from+Table+macro

~ Chart from Table | type = Column | is3d | column = sprint | aggregation = Story Points Committed,Story Poi...

=& Table Transformer | sql = SELECT 'sprint’, MIN(TTL.'Sum of story points') AS 'Story Points Committed',MIN(T...

. Pivot Table | column = sprint | row = Status | aggregation = story points | type = Sum | sort = false...

" Table Filter | column = sprint | iSOR = AND | separator = Point (.) | datepattern = M dd, yy | default.
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Macro configuration

Table Filter:
Filter Column Sprint
Filter Type Dropdown
Filter Values Reversed filter '-empty-'
Pivot Table:
Row Labels Sprint
Column Labels Status
Calculated Column Story points
Operation Type Sum

G) See also a page: Aggregating Tasks when One Task is Included in Multiple Sprints

Table Transformer:

Use the following SQL query:


https://docs.stiltsoft.com/pages/viewpage.action?pageId=42239755#Tablefiltration--Filteringrowsnotequaltoselectedvalues
https://docs.stiltsoft.com/display/TFAC/Aggregating+Tasks+when+One+Task+is+Included+in+Multiple+Sprints

SELECT 'sprint',

M N(TT1.' Sum of story points') AS 'Story Points Committed',

M N(TT1.' Sum of story points Done') AS 'Story Points Conpleted',
AVG TT2.' Sum of story points Done') AS 'Velocity'

FROM T1 AS TT1

JON TL AS TT2 on TT1l.'sprint' >= TT2.'sprint'

WHERE TT1.'sprint'<>"Total"

GROUP BY TT1.'sprint'

ORDER BY TT1.'sprint'

Additional parameters:
® Set the Decimal places option: 1.

Chart from Table:

Type Column
Labels Column Sprint
Values Column Story Points Committed, Story Points

Completed


https://docs.stiltsoft.com/pages/viewpage.action?pageId=42239653#Managingpivottableoptions-Setthenumberofdecimalplaces







Bonus: how to calculate the number of sprints to complete all the unresolved story points
depending on the latest value of the team's Velocity

Dashboard / Testing space Home / 1. catworkx Midsummer Day 2019 Workshop Home

Calculating Velocity

Crasted by Vadim Rutkevich, |ast modified just a moment ago
Story Points Committed [l
Story Points Completed [lil

sprint Story Points Committed | Story Points Completed  Velocity

ECS Sprint 1 234.0 2190 219.0

ECS Sprint 2 116.5 85.5 152.3

ECS Sprint 3 167.0 162.0 155.5

ECS Sprint 4 81.0 755 135.5

107 issues Gy Refresh @ Only currently displayed rows of the table can be filtered, aggregated and visualized

Number of sprints to complete unresolved story points

0.6
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Macro combination:

1. Insert a table with two
columns and rows. Name the
first column 'Velocity' and the
second column 'Story points
unresolved'.

2. In the first column:

a. Insert the Table
Transformer macro
calculating Velocity
(according to the
instructions above)
with the help of the T
able Excerpt and
Table Excerpt Include
macros).

b. Wrap the Table
Excerpt Include
macro in the Table
Transformer macro.

3. In the second column:

a. Insert the Jira Issues
macro.

b. Wrap the Jira Issues
macro in the Table
Filter macro.

c. Wrap the Table Filter
macro in the Pivot
Table macro.

4. Wrap the table in the Pivot
Table macro.

5. Wrap the Pivot Table macro in
the Table Transformer macro.

Macro configuration:
For the first column of the table:

Table Transformer:
Use the following SQL query:

SELECT TOP 1 'Velocity' FROM T1 ORDER BY 'sprint' DESC

For the second column of the table:

Table Filter:


https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Excerpt+and+Table+Excerpt+Include+macros
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Excerpt+and+Table+Excerpt+Include+macros
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Excerpt+and+Table+Excerpt+Include+macros
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Transformer+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Transformer+macro
https://confluence.atlassian.com/doc/jira-issues-macro-139380.html
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Filter+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Filter+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Pivot+Table+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Pivot+Table+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Pivot+Table+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Pivot+Table+macro
https://docs.stiltsoft.com/display/TFACDRAFTS/How+to+use+Table+Transformer+macro

Filter Column Status

Filter Type Dropdown

Filter Values Reversed filter 'Done’
Pivot Table:

Row Labels -

Column Labels -
Calculated Column Story points

Operation Type Sum


https://docs.stiltsoft.com/pages/viewpage.action?pageId=42239755#Tablefiltration--Filteringrowsnotequaltoselectedvalues

For the whole table:

Pivot Table:

Row Labels



Column Labels -

Calculated Column Velocity, Story points unresolved
Operation Type Sum

Table Transformer:
Use the following SQL query:

SELECT (' Sum of Story points unresolved' / 'Sumof Velocity') AS 'Nunber of sprints to conplete unresolved
story points' FROM T*

Additional parameters:

® Set the Decimal places option: 1.


https://docs.stiltsoft.com/pages/viewpage.action?pageId=42239653#Managingpivottableoptions-Setthenumberofdecimalplaces
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